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RNDIS(Remote Network Dirver Interface Specification) Ethernet Protocol over
USB D fi X %5 RaspberyPi Zeroz 88 AHE L. N5z CUSB Data Hub
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$ cat init

While[True,

Run[*nc -1 8000>input™];

temp=ReleaseHold[<<input];

temp >>output;

Run[“nc kobayashi-no-MacBook-Air-2.local 8002<output’]



]

& -Raspberrypist & —/\—Dinit 7 7 1 ILHFDR— M ES(F. W/ T+
VI UIBWE S IR 5,
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$ wolfram <init &
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raspberrypi.local DIF&E),

$ nc -1 8002 >output|nc raspberrypi.local 8000 <<EOF
> 10!

> EOF

$ cat output

3628800
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$ mkfifil npipe
$ nc - 18002 > npipe | nc raspberrypi.local 8000 << EOF | cat npipe
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$ nc-12222
socket=SocketConnect[‘kobayashi-no-MacBook-Air-2.local:22227];
str=ReadString[socket]
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$nc-12222
socket = SocketConnect["kobayashi-no-MacBook-Air-2.local:2222"];
str = ReadString[socket]
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SetDirectory[NotebookDirectory[]];
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coml="nc -1 8002 >outputl |nc raspberrypi.local 8000



<inputl";
com2="nc -1 9002 >output2 |nc raspberrypil.local 9000
<input2";
com3="nc -1 9502 >output3 |nc raspberrypi2.local 9500
<input3";
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obj={
<|"name"->nodel, "comm"->coml, "in"->"inputl", "out"-
>"outputl", "p"->{2000,3500} |>,
<| "name"->node2, "comm"->com2, "in"->"input2", "out"-
>"output2","p"->{3501,4000}|>,
<|"name"->node3, "comm"->com3, "in"->"input3", "out"-
>"output3", "p"->{4000,4500} |>};
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new[nam_] :=Module[ {ps,pe},
mersenneQ[n_]:=PrimeQ[2"n-1];

setv[nam[{s_,e_}1]1":={ps,pe}={s,e};
calc[nam] " :=Select[Range[ps,pe] ,mersenneQ]
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Map[new|[ #name]&,0bj];

objectZHHEHY —/N\—[CEZTIAD (A VY RIVADAA—IHSaveTY > 7
Ins)

Map[Save[#in, #name]&,0obj];
Map[Run[#comm]&,obj];

BHEH—N—CEIMMNEEA VY RI VAT UT, XvtE—I%%% (setvfd
WaxFEITI3)

Map[Put[Hold@setv[#name[#p]],#in]&,0bj];
Map[Run[i#comm]&,obj];

B (calcBI#) Z&REFET—/N\—TEITI5
calcBIFFETRE/NMI N 2D TT7AERLT S
Map[Put[Hold@calc[#name],#in]&,0bj];
proc=Map[StartProcess[ {$SystemShell, "-
c",#comm}]&,0bj]
{ProcessObject[0],ProcessObject[1l],ProcessObject[2]}
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Map[ProcessStatus[#]&,proc]
{Finished,Finished,Finished}
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Map[FilePrint[#out]&,obj];
{2203, 2281, 3217}
{}

{4253, 4423}
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